

June 28, 2024

Ms. Linda C. Bridwell, P.E. Executive Director Kentucky Public Service Commission 211 Sower Boulevard Frankfort, KY 40602

Re: Electronic Purchased Gas Adjustment Filing of Kentucky Frontier Gas, LLC - Case No.

2024-00210

Dear Ms. Bridwell:

Enclosed, please find for filing, Kentucky Frontier Gas, LLC's Purchased Gas Adjustment Application, and supporting documents in the above referenced matter. Please note that this is being filed pursuant to the Commission's March 28, 2024 Order in Case No. 2023-00067, *Electronic Application for Revised Quarterly Gas Cost Recovery Schedules for Kentucky Frontier Gas, LLC*, stating

Therefore, the Commission finds that Kentucky Frontier should be granted an interim increase to its line loss limiter from 5 percent to 7.5 percent for a period of up to two years. The deviation should be included in the next GCR rate report filed by Kentucky Frontier with a proposed effective date of August 1, 2024, and should remain in effect up to and including the GCR rate report with the 12-month reporting period ended April 30, 2026.

This is to certify that the electronic filing has been transmitted to the Commission on June 28, 2024 and that there are currently no parties in this proceeding that the Commission has excused from participation by electronic means. Pursuant to the Commission's July 22, 2021 Order in Case No. 2020-00085 no paper copies of this filing will be made.

Please do not hesitate to contact me with any questions or concerns.

Sincerely,

KENTUCKY FRONTIER GAS, LLC

Donnes R. / Sines

Dennis R. Horner

Enclosures

FOR ENTIRE AREA SERVED **KENTUCKY FRONTIER GAS, LLC**

	P.S.C. KY. NO1							
			Original		SHEET NO.	1		
Kentucky Frontier Gas, LLC			Original		SHEET NO			
(Name of Utility)			CANCELING P.S. KY.NO.					
					SHEET NO.			
APPLICABLE:	-		AND CHARGE	ES				
APPLICABLE:		Entire area	a served					
<u>F1</u>	rontier	Residenti	al and Small (Com	mercial			
			Gas Cost					
		ise Rate			<u>Total</u>			
CUSTOMER CHARGE		13.0000			13.0000			
ALL CCF	\$	0.42200	\$ 0.55488	\$	0.97688			
	í	Frontier La	arge Commer	cial				
	=		Gas Cost					
	Ba	se Rate	<u>Rate</u>		<u>Total</u>			
CUSTOMER CHARGE	\$	50.0000		\$	50.0000			
ALL CCF	\$	0.34454	\$ 0.55488	\$	0.89942			
		Davsho	oro Residentia	al .				
		Dayobe	Gas Cost	<u>u</u>				
	Ва	se Rate	Rate		<u>Total</u>			
CUSTOMER CHARGE				\$	10.7100			
ALL CCF	\$	0.45000	\$ 0.55488	\$	1.00488			
		Daveho	ro Commercia	al .				
		Daysou	Gas Cost	<u> </u>				
	Ba	se Rate	Rate		<u>Total</u>			
CUSTOMER CHARGE		12.7500	<u>itato</u>	\$	12.7500			
ALL CCF		0.85700	\$ 0.55488		1.41188			
DATE OF ISSUE		June 2	28, 2024					
		Month/	Date/Year					
DATE EFFECTIVE		Δ .	. 4. 000.4					
DATE EFFECTIVE	August 1, 2024							
ISSUED BY	Dennis R. / Sines							
TITLE		А	gent					
BY AUTHORITY OF ORDER OF TH		BLIC SER		INS				
IN CASE NO. 2024-00	210		DATED		April 30, 2024			

<u>Amount</u>

Unit

KFG UNIFIED GAS COST RECOVERY RATE

SCHEDULE I

GAS COST RECOVERY RATE SUMMARY

Component

				
	Expected Gas Cost (EGC)	\$/Mcf	\$	6.2746
+	Refund Adjustment (RA)	\$/Mcf	\$	-
+	Actual Adjustment (AA)	\$/Mcf	\$	(0.7540)
+	Balance Adjustment (BA)	\$/Mcf	\$	0.0283
=	Gas Cost Recovery Rate (GCR)		\$	5.5488
	GCR to be effective for service rendered from:	August	t 1,	2024
Α	EXPECTED GAS COST CALCULATION	<u>Unit</u>		<u>Amount</u>
	Total Expected Gas Cost (Schedule II)	\$	\$	2,316,621
/	Sales for the 12 months ended April 30, 2024	Ψ Mcf	Ψ	369,207
	Expected Gas Cost (EGC)	\$/Mcf	\$	6.2746
_	Expedied das cost (EGC)	ψ/Ινισι	Ψ	0.2740
В	REFUND ADJUSTMENT CALCULATION	<u>Unit</u>		Amount
	NEI OND REGOLITION	<u> </u>		7 till Odile
	Supplier Refund Adjustment for Reporting Period (Sch. III)		\$	-
+	Previous Quarter Supplier Refund Adjustment	\$/Mcf	\$	-
+	Second Previous Quarter Supplier Refund Adjustment	\$/Mcf	\$	-
+	Third Previous Quarter Supplier Refund Adjustment	\$/Mcf	\$	-
=	Refund Adjustment (RA)	\$/Mcf	\$	-
С	ACTUAL ADJUSTMENT CALCULATION			<u>Amount</u>
	Actual Adjustment for the Current Reporting Period (Sch. IV)	\$/Mcf	\$	(0.5088)
+	Previous Quarter Reported Actual Adjustment	\$/Mcf	\$	0.1053
+	Second Previous Quarter Reported Actual Adjustment	\$/Mcf	\$	(0.2049)
+	Third Previous Quarter Reported Actual Adjustment	\$/Mcf	\$	(0.1456)
	Actual Adjustment (AA)	\$/Mcf	-	(0.7540)
	, , ,	·	•	,
D	BALANCE ADJUSTMENT CALCULATION	<u>Unit</u>		<u>Amount</u>
	Balance Adjustment for the Reporting Period (Sch. V)	\$/Mcf	\$	0.0086
+	Previous Quarter Reported Balance Adjustment	\$/Mcf	\$	(0.0224)
+	Second Previous Quarter Reported Balance Adjustment	\$/Mcf	\$	0.0237
+	Third Previous Quarter Reported Balance Adjustment	\$/Mcf	\$	0.0184
=	Balance Adjustment (BA)	\$/Mcf	\$	0.0283

2024-00210

Kentucky Frontier Gas, LLC - Unified

SCHEDULE II EXPECTED GAS COST

APPENDIX B Page 3

MCF Purchases for 12 months ended: April 30, 2024

					(4) x (5)
Supplier	Dth	Btu Factor	Mcf	Rate	Cost
Columbia (Goble Roberts, Peoples)		N/A	9,175		\$48,891
Cumberland Valley (Auxier)		1.1750	108,430	\$ 3.4943	\$378,885
Cumberland Valley (Sigma) includes \$1	.25/Mcf DLR trans	1.1750	1,572	\$ 4.7443	\$7,458
Diversified Energy (39-E,181-S)		1.0000	57	\$ 4.1148	\$235
* HI-Energy		1.1340	8,173	\$ 4.8195	\$39,390
** HTC (Sigma) includes \$1.25/Mcf DLR t	rans	1.0622	5,571	\$ 5.4988	\$30,634
EKM (Sigma) rate includes \$1.25/Mcf D	LR trans	1.1184	222	\$11.6630	\$2,589
EKM (Public and Daysboro)		1.1184	107,632	\$ 10.4130	\$1,120,775
Magnum Drilling, Inc.		N/A	1,903	\$ 10.5000	\$19,982
Nytis (Auxier)		1.2000	176	\$ 3.0156	\$531
Nytis (Sigma) includes \$1.25/Mcf DLR t	rans	1.2000	10,402	\$ 3.6625	\$38,097
Quality (Belfry)		1.1999	35,050	\$ 3.1353	\$109,894
** Slone Energy		1.0762	3,538	\$ 4.3048	\$15,230
Southern Energy (EKU,MLG,Price)		1.2632	53,831	\$ 4.6271	\$249,082
Southern Energy (Sigma) includes \$1.2	5/Mcf DLR trans	1.2632	40,719	\$ 5.8771	\$239,310
** Spirit		1.1619	3,277	\$ 4.6476	\$15,230
** Tacket		N/A	117	\$ 3.5000	\$410
Totals			389,845	\$ 5.9424	\$2,316,621
Line loss 12 months end	ed: <u>Apr-24</u>	based on purc	hases of	389,845	Mcf
and sale	s of <u>369,207</u>	Mcf	5.3%	L&U	
				<u>Unit</u>	<u>Amount</u>
Total Expected Cost of Purchases (6)				\$	\$ 2,316,621
/ Mcf Purchases (4)				Mcf	389,845
= Average Expected Cost Per Mcf Purcha				\$/Mcf	\$ 5.9424
x Allowable Mcf Purchases (7.5% Limiter				Mcf	389,845
= Total Expected Gas Cost (to Schedule	1A)			\$	\$ 2,316,621
For Aver NIVACY Many law July 00 704/District		004/Dth. /TO AI	D = = :=\	\$0.5400	Dil
Est Avg NYMEX May, Jun, Jul = \$2.734/Dth	1,EST TC0 = \$2.734-\$0.2	21/Dtn (1Co Appai	Basis)	\$2.5130	
Columbia of KY (Case No. 2024-00121)	Commodity (COOD			\$5.3287 \$4.4449	
Diversified = TCo Appal + 14% Fuel + \$1.09	<u>-</u>			\$4.1148	
EKM (Jefferson) = TCo Appal + \$5.75 cost factor + \$0.4479 L&U + \$0.60 FT/Mkt \$9.3109 Dth					
CVR = TCo Appal + 1.996% Fuel + \$0.0190	O Commodity + \$0.3417	Demand + \$0.05 C	VR Fee	\$2.9739	
* HI-Energy contract				\$4.2500	
** HTC, Spirit contract				\$4.0000	
Magnum Drilling contract				\$10.5000	
Nytis (Auxier) = TCo Appal				\$2.5130	
Nytis (Sigma) = TCo Appal. x .8				\$2.0104	
** Slone contract				\$4.0000	
Southern Energy = TCo Appal + \$1.1500/D	th			\$3.6630	
Quality (Belfry) = TCo Appal+ \$0.10				\$2.6130	
* Est 3 mo. TCo Appal x .8 = \$1.7074 < \$4.2				\$4.2500	
** Est 3 mo. TCo Appal x .8 = \$1.7074 < \$4.0	0/Dth; \$4.000/Dth			\$4.0000	
Tacket contract				\$3.5000	Mcf

DLR Trans Cow Creek (Sigma) \$1.25/Mcf on Mcf from CVR,EQT,HTC,ING,EKM,Nytis,Plateau,So. Energy

(\$0.5088)

\$0.0000

(\$0.5088)

KFG Unified

Schedule IV Actual Adjustment

For the 3 month period ending:	April 30	April 30, 2024						
	7.5% LIMITER							
<u>Particulars</u>	<u>Unit</u>	Feb-24	Mar-24	<u>Apr-24</u>				
Total Supply Volumes Purchased	Mcf	58,558	41,621	25,007				
Total Cost of Volumes Purchased	\$	\$307,156	\$181,333	\$ 100,913				
(divide by) Total Sales (7.5% Limiter)	Mcf	55,312	38,499	26,420				
(equals) Unit Cost of Gas	\$/Mcf	\$5.5532	\$4.7100	\$3.8196				
(minus) EGC in effect for month	\$/Mcf	\$6.4702	\$6.4702	\$6.4702				
(equals) Difference	\$/Mcf	(\$0.9170)	(\$1.7602)	(\$2.6506)				
(times) Actual sales during month	Mcf	55,312	38,124	26,420				
(equals) Monthly cost difference	\$	(\$50,724)	(\$67,105)	(\$70,030)				
				<u>Unit</u>	<u>Amount</u>			
Total cost difference				\$	(\$187,859)			
(divide by) Sales for 12 months ended April 30, 2024				Mcf	369,207			

2024-00210

(equals) Actual Adjustment for the Reporting Period

(plus) Over-recovery component from collections through expired AAs

(equals) Total Actual Adjustment for the Reporting Period (to Schedule I C)

SCHEDULE V BALANCE ADJUSTMENT For the Effective Date August 1, 2024

<u>Particulars</u>	<u>Unit</u>	<u>Amount</u>
Total cost difference used to compute AA of the GCR effective 4 quarters prior to the effective date of the currently effective GCR	\$	(\$435,812)
Less: Dollar amount resulting from the AA of (1.1671)		
\$/Mcf as used to compute the GCR in effect four quarters prior to the effective date of the		
Currently effective GCR times the sales of 369,207 Mcf during the 12 month period the AA was in effect	\$	(\$430,901)
Equals: Balance Adjustment of the AA	\$	(\$4,911)
Total supplier refund adjustment including interest used to compute		
RA of the GCR effective 4 quarters prior to the effective date of the currently effective GCR	\$	\$0
Less: Dollar amount resulting from the RA of \$/Mcf as used to compute the GCR in effect four quarters prior to the		
effective date of the currently effective GCR times the sales of Mcf during the 12 month period the RA was in effect	\$	\$0
Equals: Balance Adjustment of the RA	\$	\$0
Total balance adjustment used to compute BA of the GCR effective 4 quarters prior to the effective date of the currently effective GCR	\$	\$168
Less: Dollar amount resulting from the BA of (0.0214)		
\$/Mcf as used to compute the GCR in effect four quarters prior to the effective date of the		
currently effective GCR times the sales of 369,207 Mcf during the 12 month period the BA was in effect	\$	(\$7,901)
Equals: Balance Adjustment of the BA	\$	\$8,069
Total Balance Adjustment Amount (1) + (2) + (3)	\$	\$3,159
Divide: Sales for 12 months ended April, 2024	Mcf	369,207
Equals: Balance Adjustment for the reporting period	\$/Mcf	\$0.0086

2024-00210